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Question Number : 1 Question Id : 864351541 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
For an electromagnetic wave travelling in free space, the relation between average energy

densities due to electric (U,) and magnetic (U, fields is :
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Question Number : 2 Question Id : 864351542 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks

01

The volume V of an enclosure contains a mixture of three gases, 16 g of oxygen, 28 g of

nitrogen and 44 g of carbon dioxide at absolute temperature T. Consider R as universal gas

constant. The pressure of the mixture of gases ig
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Question Number : 3 Question Id : 864351543 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 4 Wrong Marks : 1



For changing the capacitance of a given parallel plate capacitor, a dielectric material of

dielectric constant K is used, which has the same area as the plates of the capacitor. The

thickness of the dieleclric slab is %d , where “d’ is the separation between the plates of parallel
plate capacitor. The new capacitance (C') in terms of original capacitance () is given by

the following relation :
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Correct Marks : 4 Wrong Marks : 1

The velncit}r-dispfacement graph describhg the motion of a bi{:}fde is shown in the igure.
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The acceleration-displacement graph of the bicycle’s motion is best described by :
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Question Number : 5 Question Id : 864351545 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A block of mass m slides along a floor while a force of magnitude F is applied to it at an angle
B as shown in figure. The coefficient of kinetic friction is . Then, the block’s acceleration
‘a’is given by :

(g is acceleration due to gravity)
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Question Number : 6 Question Id : 864351546 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A bar magnet of length 14 cm is placed in the magnetic meridian with its north pole pointing
towards the geographic north pole. A neutral point is obtained at a distance of 18 cm from
the center of the magnet. If B;;=04 G, the magnetic moment of the magnet is (1 G=10"1T)
Options :
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Question Number : 7 Question Id : 864351547 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The angle of deviation through a prism is minimum when

(A) Incident ray and emergent ray are symmeltric to the prism
(B) The refracted ray inside the prism becomes parallel to its base
(C) Angle of incidence is equal to that of the angle of emergence
(D)  When angle of emergence is double the angle of incidence
Choose the correct answer from the options given below :

Options :

8643511645, Only statements (A) and (B) are true

8643511646, Statements (A), (B) and (C) are true

2643511647, Only statement (D) is true

R643511648. Statements (B) and (C) are true
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Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 864351548 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An RC circuit as shown in the figure is driven by a AC source generating a square wave. The

output wave pattern monitored by CRO would look close to :
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Question Number : 9 Question Id : 864351549 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A block of 200 g mass moves with a uniform speed in a horizontal circular groove, with
vertical side walls of radius 20 cm. If the block takes 40 s to complete one round, the normal

force b"i, the side walls of the groove ig

Options :
8643511653, U-0314 N
4
8643511654, 2899 X107 N
3 3
8643511655, 0-28x 1077 N

8643511656, 2899 X107 N
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Question Number : 10 Question Id : 864351550 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In thermodynamics, heat and work are :

Options :



8643511657, Point functions
8643511658, Path functions

8643511659, Intensive thermodynamic state variables

R643511660. Extensive thermodynamic state variables
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Question Number : 11 Question Id : 864351551 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The maximum and minimum distances of a comet from the Sun are 1.6 X 1012 m and
8.0 10! m respectively. If the speed of the comet at the nearest point is 6 x 104 ms 1, the
speed at the farthest point is :

Options :
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8643511661, 127107 m/s

3.0%x10° m/s
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Question Number : 11 Question Id : 864351551 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 864351552 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Four equal masses, m each are placed at the comers of a square of length (I) as shown in the
figure. The moment of inertia of the system about an axis passing through A and parallel to

DB would be :
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Question Number : 13 Question Id : 864351553 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A 25 m long antenna is mounted on an antenna tower. The height of the antenna tower is

75 m. The wavelength (in meter) of the signal transmitted by this antenna would be :
Options :
8643511669. 200



8643511670, 200
8643511671, 00

8643511672, 100

Question Number : 13 Question Id : 864351553 Question Type : MCQ Option Shuffling : Yes Is
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Question Number : 14 Question Id : 864351554 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 4 Wrong Marks : 1

The stopping potential in the context of photoelectric effect depends on the following property
of incident electromagnetic radiation :

Options :
8643511673, requency

8643511674, Ssmplitude

Intensity
8643511675. !

8643511676, I hase
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Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 864351555 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Time period of a simple pendulum is T inside a lift when the lift is stationary. If the lift moves

upwards with an acceleration g /2, the time period of pendulum will be :

Options :
T
8643511677. V3
3T
8643511678. V3
31
8643511679.
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8643511680. \'f 3
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



29
pCh
&
&)
3
&h
ph
™5
5 |
{ o
G
%&
Gy,
(‘b
i,
éa
éﬂ
(¥,
e,
e
<
£A
a.:
“A
&
g_
ﬂ
ped
(o
(5=}
b S
4% ]
(13
Ecw.
a8
ga

3,

£l
L&

2f

m%‘ff‘s'] g o]
Options :

T
8643511677. V3

3T
8643511678. V3

51

2
8643511679.

Ly
8643511680. 3

Question Number : 16 Question Id : 864351556 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A plane electromagnetic wave of frequency 500 MHz is travelling in vacuum along y-direction.

Ata particular point in space and time, E —80x1078 zT . The value of electric field at this
point is :

(speed of light=3x10% ms—1)

A, i 4

x, i, z are unit vectors along x, y and z directions.
Options :

Mo N
8643511681, —+ X V/m

8643511682, 0 X V/m
8643511683, =% X V/m

8643511684, ~O ¥ V/m
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 864351557 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A conducting bar of length L is free to slide on two parallel conducting rails as shown in the

figure
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Two resistors R, and R, are connected across the ends of the rails. Thereis a uniform magnetic

field _E: pointing into the page. An external agent pulls the bar to the left at a constant
speed ©.

The correct statement about the directions of induced currents [} and L, flowing through
R, and R, respectively is :

Options :



8643511685, [, is in anticlockwise direction and I, is in clockwise direction

I | is in clockwise direction and I2 is in anticlockwise direction
8643511686.

2643511687, Both II and Ip_ are in anticlockwise direcion

Both I, and I, are in clockwise direction
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Question Number : 18 Question Id : 864351558 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The pressure acting on a submarine is 3 x 10° Pa at a certain depth. If the depth is doubled,

the percentage increase in the pressure acf_"ing on the submarine would be :

(Assume that atmospheric pressure is 1 x 10° Pa density of water is 10° kgm 7, g =10 ms ~?)

Options :

8643511689.

8643511690. -

8643511691,

8643511692.
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Question Number : 19 Question Id : 864351559 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A conducting wire of length °I', area of cross-section A and electric resistivity p is connected
between the terminals of a battery. A potential difference V is developed between its ends,

causing an electric current.

[f the length of the wire of the same material is doubled and the area of cross-section is

halved, the resultant current would be :

Options :
VA
_1__
pl
8643511693
1 pl
8643511694, + V¢
1vA
8643511695, = Pl
3 V.
8643511696, + P!
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Question Number : 20 Question Id : 864351560 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
One main scale division of a vernier callipers is ‘a’ cm and nth division of the vernier scale

coincide with (n— I]“‘ division of the main scale. The least count of the callipers in mm is :

Options :
[ n—1 }a
8643511697, © 100/
10 na
8643511698, (0~ 1)
10 a
8643511699, D
10 a
(n—1)

8643511700.
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10 na

8643511698, (0~ 1)
10 a
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Question Number : 21 Question Id : 864351561 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A sinusoidal voltage of peak value 250 V is applied to a series LCR circuit, in which R=8 (),
L=24 mH and C=60 pF. The value of power dissipated at resonant condition is ‘x" kW,

The value of x to the nearest integer is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 864351561 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Show Word Count : Yes
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Question Number : 22 Question Id : 864351562 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider a [rame that is made up of two thin massless rods AP and AC as shown in the

[ igure. A vertical force P of magrﬁt‘ude 100 N is apph'ed at poi_nt A of the frame.
[

A
?ﬂ_ﬂ \‘\.

>
"% R

: B

Q%\
.,

e

145°|

..-"/'.r".. F

Suppose the force is P resolved parallel to the arms AB and AC of the frame.

The magnitude of the resolved component along the arm AC is xN.
The value of x, to the nearest integer, is
[Given :  sin(35°)=0.573, cos(35%)=0.819
sin(110%)=0.939, cos(110%) = —0.342 ]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText



Possible Answers :

100

Question Number : 22 Question Id : 864351562 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

H6508° SrDiSty (5o B Do He03® E&, ABSHDINAC, o a8 SHsusd 0.
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dohd ASE a8 100N DBosresn Mo rd edn F Q |SBrhodard. ABSHEAnAC
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ghero D0modo ™ P A 90w LgRonhén Eitroihthos AC &SS'D woddy aN

Sond
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X oJ20ad

[82)% Sacodsn : sin(35%) =0.573, cos(35°) =0.819, sin(110°)=0.939, cos(110%) = —0.342 |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 864351563 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



The first three spectral lines of H-atom in the Balmer series are given Ao Ao, Ay considering the

Bohr atomic model, the wave lengths of first and third spectral lines [‘\"_11 are related by a

Az |

factor of approximately ‘2" x10 1,

The value of x, to the nearest integer, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 864351563 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 864351564 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



The value of power dissipated across the zener diode (V,=15 V) connected in the circuit as
shown in the figure is x x 10~ ! waltt.

Rg=35 )

AANAENA
Y .'llllll.I ',I. ik

T
*

= R, =900

V,=15V £}

A A

22V

w
(]

The value of x, to the nearest integer, is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 864351564 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Besnd® b Dfore £58 LBrE (V,=15V) 5 Sochind® L0538 ool Hoae HreHIas
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 864351565 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
A ball of mass 10 kg moving with a velocity ID\E ms ! along X-axis, hits another ball of

mass 20 kg which is at rest. After collision, the first ball comes to rest and the second one
disintegrates into two equal pieces. One of the pieces starts moving along Y-axis at a speed
of 10 m/s. The second piece starts moving at a speed of 20 m/s at an angle 0 (degree) with

respect to the X-axis.
The configuration of pieces after collision is shown in the figure.

The value of 8 to the nearest integer is

After Collision

AY

P N axis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 864351565 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 864351566 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



Consider a 20 kg uniform circular disk of radius 0.2 m. It is pin suppm’ted at its center and
is at rest initially. The disk is acted upon by a constant force F=20 N through a massless

string wrapped around its periphery as shown in the figure.

F=20N

Suppcrse the disk makes n number of revolutions to attain an angular speed of 50 rad s~ L.

The value of n, to the nearest integer, is

|Given : In one complete revolution, the disk rotates by 6.28 rad]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 864351566 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 864351567 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In the logic circuit shown in the figure, if nput A and B are 0 to 1 respectively, the output at
Y would be ‘2’

The value of x is

| ey

|
B e—{>0 ] }_

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 864351567 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

DS’ Irad &) Sodhidndg®, VSN A B w 0, 1355 oond, Y S8 aamdasn X,
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 864351568 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In the figure given, the electric current flowing through the 5 k() resistor is ‘x" mA,

50
e 3 k0
A Ty v
,= |
21V, 1kQ

The value of x to the nearest integer is

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 864351568 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 864351569 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A fringe width of 6 mm was produced for two slits separated by 1 mm apart. The screen is
placed 10 m away. The wavelength of light used is “x" nm.

The value of ‘x’ to the nearest integer is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 29 Question Id : 864351569 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 864351570 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The resistance [ = l , where V=30 £2)V and I=(20£0.2)A. The percentage error in R is
l

‘x Y.

The value of ‘2" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 864351570 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A EED R=—~, V=(50+2)V 50ao I=(20+02)A. R & Shzsso ¥ % wond.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



100

Chemistry Section A
Section Id : 86435139
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 86435139
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 864351571 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R :

Assertion A : The H- O~ H bond angle in water molecule is 104.5%,

Reason R : The lone pair - lone pair repulsion of electrons is higher than the bond pair

- bond pair repulsion.

In the light of the above statements, choose the correct answer from the options given
below :

Options :

643511711, Both A and R are true, and R is the correct explanation of A

Both A and R are true, but R is not the correct explanation of A
8643511712.

8643511713. A is true but R is [alse

3643511714, 18 false but R is true

Question Number : 31 Question Id : 864351571 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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E8ge Lol ehsin.
3 DSBme egrdorr, (8o ndsre Hob JOES sarard JnSod.
Options :

A HBdn Ren D0GHSD 00dn A GuE) S8EE J38s R
8643511711. ’

A 558050 R en D80S =20 A @) HBGN AHbee R s0th
8643511712. = 7 =

A DETDEE =20 RABEES =%
8643511713. = =

8643511714, A ROERA TRET =R REBILED

Question Number : 32 Question Id : 864351572 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
Industrial process Application
(a) Haber's process (i)  HNO, synthesis
(b)  Ostwald’'s process (i) Aluminium extraction
(c) Contact process (i) NH, synthesis
(d) Hall-Heroult process (iv) HS0, synthesis

Choose the correct answer from the options given below :
Options :

8643511715, (@H(), (b)-(1), (€)-(i), (d)-(iii)

8643511716, @D, (b)-(1), (S)-(iv), (d)-{i)

g643511717, (@)r(i), (b)-(iii), (c)-(iv), (d)-(i)



s64351171g, @D, (B)(iv), (c)-(1), (d)-(ii)

Question Number : 32 Question Id : 864351572 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o - 11 8° erdor - 1D 28585550

emlior - 1 doe - 11

FoFWE SPdes woHbares
(a) Trzb 558 (i) HNO; Hodsies
(b) =S S (i) woEEbdcho QY
(c) =0irE 558 () NH, Hozhes

22 & 3 3
d) &S - TS DS iv) H,50, Hoddhes
( _ 4
£ (] il Lk
Bod adTre Hod SOES smrm J5yE°od.
Options :

8643511715, @), (D)-(1), (c)-(i), (d)-(iii)
8643511716, @), (b)-(3), (¢)-(iv), (d)-(ii)
8643511717, (@)(i), (b)-(iii), (c)-(iv), (d)-(i)

s64351171g, @ (D), (b)-(iv), (c)-(1), (d)-(ii)

Question Number : 33 Question Id : 864351573 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A group 15 element, which is a metal and forms a hydride with strongest reducing power
among group 15 hydrides. The element is :

Options :
8643511719, Bl

8643511720. P



8643511721, 18

8643511722. =

Question Number : 33 Question Id : 864351573 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
8643511719, Bl

8643511720. P

8643511721, 18

8643511722. b

Question Number : 34 Question Id : 864351574 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The process that involves the removal of sulphur from the ores is :
Options :

8643511723. Retining

8643511724, 0asting

8643511725, ~melting

8643511726, -caching

Question Number : 34 Question Id : 864351574 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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8643511723,
8643511724, &

8643511725.

8643511726. "=

Question Number : 35 Question Id : 864351575 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  H,0, can act as both oxidising and reducing agent in basic medium.
Statement Il : In the hydrogen economy, the energy is transmitted in the form of
dihydrogen.
In the light of the above statements, choose the correct answer from the options given
below :
Options :
Both statement 1 and statement 1l are true
8643511727.
8643511728, Both statement 1 and statement 11 are false
2643511729, Statement 1 is true bul statement 11 is false
Statement | is false but statement 11 is true
8643511730.

Question Number : 35 Question Id : 864351575 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 36 Question Id : 864351576 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  Both CaCl,6H,0 and MgCl,-8H,0 undergo dehydration on heating.

Statement Il : BeO is amphoteric whereas the oxides of other elements in the same group
are acidic.

In the light of the above statements, choose the correct answer from the options given
below :

Options :

8643511731, Both statement I and statement Il are true

8643511732, Both statement | and statement Il are false

643511733, Statement 1 is true bul statement 11 is false

8643511734, Statement 1 is false but statement 11 is true



Question Number : 36 Question Id : 864351576 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(S0l Both AHGmw B RTTON.
D&Bes 1:  CaCly6H,0 $8a5n MgCly8H,0 o 3& 305 PdESmo Joderan
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e

RGP, LDReotIram.

j
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Options :

b 15003y Rt 1l en HOG@HD
8643511731. o

258 1500cin IS8 1l en JOGEHD =75
8643511732.
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Question Number : 37 Question Id : 864351577 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - 1 with List - 11 :

List - 1 List - 11
Name of oxo acid Oxidation state of I
(a) Hypophosphorous acid (1) t3
(b)  Orthophosphoric acid (ii) t4
(c) Hypophosphoric acid (i) +3
(d) Orthophosphorous acid (iv) +2
0

Choose the correct answer from the options given below :
Options :
2643511735, (@), (b)-(iv), (c)-(i1), (d)-(it)



8643511736, @), (B}-(1), (c)-(i), (d)-(iii)
8643511737, @F(v), (b)-(v), (c)-(i), (d)-(i)

2643511738, @r V). (b)-(1), (c)-(ii), (d)-(iii)

Question Number : 37 Question Id : 864351577 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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o o 1 P &%) ef¥8n 8
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Options :
8643511735, (@)F(V), (B)-(1v), (c)-(ii), (d)-(iii)

8643511736, (@)-(v), (b)-(1), (c)-(ii), (d)-(iii)
8643511737, @), (B)-(v), (c)-(it), (d)-(ii)

8643511738, (@ (V), (B)(), (c)-(ii), (d)-(iii)

Question Number : 38 Question Id : 864351578 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statement : one is labelled as Assertion A and the other is labelled as

Reason R :
Assertion A :  Size of Bk?* ion is less than Np? * ion.
Reason R : The above is a consequence of the lanthanoid contraction.

In the light of the above statements, choose the correct answer from the options given
below :
Options :

2643511739, Both A and R are true and R is the correct explanation of A

8643511740, Both A and R are true but R is not the correct explanation of A

8643511741, A is true but R is false

864351174, N 15 false but R is true

Question Number : 38 Question Id : 864351578 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 39 Question Id : 864351579 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1 :  The E° value for Ce?** /Ce? " is +1.74 V.
Statement Il : Ce is more stable in Ce?* state than Ce® * state.

In the light of the above statements, choose the most appropriate answer from the options

given below :
Options :

Both statement 1 and statement 11 are correct
8643511743.

643511744 Both statement | and statement 1l are incorrect

3643511745. Statement 1 is correct but statement 1l is incorrect

R643511746. Statement 1 is incorrect bul statement 1l is correct

Question Number : 39 Question Id : 864351579 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(8o Sotl DdTmen FjeTrEan.
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B Ame srborr Bod FEE” edjod GBS SErorly HipFod.
Options :
643511743 Bt 150805 Raddes I en ;33@;3;}
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DS 1:50FHHE S =00 DSBes 11 505
8643511746,



Question Number : 40 Question Id : 864351580 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The type of pollution that gets increased during the day time and in the presence of 03 ig ¢
Options :

Reducing smog
8643511747.

Oxidising smog,
8643511748.

8643511749, cid rain

8643511750, COpal warming

Question Number : 40 Question Id : 864351580 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

&% (day) sP008® Worhdr S8k 0,550508° AK)tH stenidsd)) Jotrds ?
Options :
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S643511747, 2O0ETH TN

8643511748, ™ ¢

8643511749.

S0 S0
8643511750, T 1) 00 D60

Question Number : 41 Question Id : 864351581 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In chromotography technique, the purification of compound is independent of :
Options :

8643511751, >otubility of the compound

264351175, Mohrht}’ or [low of solvenl system



Length of the column or TLC plate
8643511753.

643511754 Physical state of the pure compound

Question Number : 41 Question Id : 864351581 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
8550858059 Sgast, f»:ui.nﬁ"&h &{5‘; (purification) B0 eTrEHEe: ?
Options :

x s ‘q_:s e
8643511751, gt D [EPREdhE

8643511752.

8643511753.

8643511754.

Question Number : 42 Question Id : 864351582 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Among the following, the aromatic compounds are :

S ®

Choose the correct answer from the following options :
Options :

8643511755, () and (B) only



8643511756, () (B) and (C) only

8643511757, (0 () and (D) only

(B) and (C) only
8643511758. d

Question Number : 42 Question Id : 864351582 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

A) 50050 (B) S
8643511755, (N 00T (B) &7
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Question Number : 43 Question Id : 864351583 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following is Lindlar catalyst ?
Options :

8643511759, Partially deactivated palladised charcoal

2643511760 Sodium and Ltqu:d NH3

Cold dilute solution of Kh‘inD4
8643511761.

864351176, Zine chloride and HCI

Question Number : 43 Question Id : 864351583 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Bol &S D& Dored &(@K8sn ?

Options :

8643511759.

8643511760.
Sen Hae KMnO, ItPsees
8643511761, =~ aAE e
2of EBE HbBasn HCl
8643511762,

Question Number : 44 Question Id : 864351584 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
H,C OH H5C Cl

E.Df,-rfi'- I i:!.PDAt_ ,,.h,, (CI 13}3 CO K + .uB.r:
R e—— ' > :
38K (Major Product) (Major Product)

The prr:rclucts “A" and “B” lormed in above reactons are :

Options :



CH, THQ

-
8643511763.

(|?|H2 CH;

O -C
8643511764.

CH, T:H2

B —

.
¢

Question Number : 44 Question Id : 864351584 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

20% IIBPO&}\. "1"31” (CI ]3 CD_K': .r:En
358 K _
(oo (Bosrasso) (s |§osrams;o)

> SGged® o,iﬁ' o A" Sp8dim “B” en:

O

8643511765.

CH,

O

8643511766.

H,C  OH

Options :



CH, CH,

I |
8643511763.

ﬁ}h CH,
8643511764

CH; ﬁHz
8643511765.

CH, CHs
8643511766.

Question Number : 45 Question Id : 864351585 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o—_-
i) DIBAL-H, Toluene, —78°C -
ii) HyO* " (Major Product)

The pmduct “T" in the above reaction is :

Options :



@A CHO
8643511767.
O

O—-C—-H
8643511768. |
OH
“/\ CHO
8643511769.
~/\CG'DII
8643511770.

Question Number : 45 Question Id : 864351585 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
O

[
i) DIBAL-H, ;5785 —78°C o~
i) H,O+ (oS Baraso)

AT - T SR T, Y
2 o (Badrmasiio PV :




@/\ o
8643511767.

O
8643511768. |

OH

CHO

8643511769.

COOH

ot

8643511770.

Question Number : 46 Question Id : 864351586 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Assertion A :  Enol form of acetone [CH,COCH,] exists in < 0.1% quantity. However, the
enol form of acetyl acetone [CH,COCH,OCCH,] exists in approximately
15% quantity. |

Reason R : Enol formof acetylacetone is stabilized by intramolecular hydrogen bonding,
which is not possible in enol form of acetone.

Choose the correct statement :

Options :

8643511771 Both A and R are true and R is the correct explanation of A



2643511772, Both A and R are true but R is not the correct explanation of A

8643511773, A is true but R is false

8643511774, '\ 15 false but R is true

Question Number : 46 Question Id : 864351586 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WYHEEe A VST [CHLCOCH;| @) &:FS (enol) 8o <0.1% £565rw08® dotnol.

5o INBE ST [CH;COCH,O0CH;] @¥) &TS &rbo 15% H0ireos’

ool
So8eesin R IHBE VST @) &TS Grdo wen ©odE  (intramolecular) TRE S

2OGPL DO fQééiﬁi\au Do o0 0ePS HSPS Srhodt ﬁtcﬁéu ==

$OEoE warandy 5Bod.

Options :

AHBdin R en H8GhHD HOdm A Gng JHO@D DBde R
8643511771. = .

A $508din R en S583E =20 A B8 S80S Db, R =2
8643511772. = “ =

wt = awtopy 4 £

2643511773, A DBTHHE =00 R H650H6 =2
2643511774, A DETHIL = =0 R S0ENG

Question Number : 47 Question Id : 864351587 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



NH, OH

J'n‘ﬂ.l'.f

NaNO, HCl .,

273-278 K

Major Product

In the above chemical reaction, intermediate “X" and reagent/ condition “A"” are :

Options :
NO,
X - @ ; A- HyO/NaOH
8643511775.
N,Cl~
X - @ i A- HO/A
8643511776.
_|_
N,Cl—
X - @ ; A- H-O/NaOH
8643511777.

NO,

M. Hzolg"ﬁ

N

8643511778.



Question Number : 47 Question Id : 864351587 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
NH- OH

i hfl’

NaNO, HCl .,

273-278 K

(1Dees §oTresss0)

P ErabS SH6° HEkHan “X” SHddhn sFEESn [ S0Dden “A” en:
: 2aq ]

Options :
NO,
X- ; A- HyO/NaOH
8643511775.
N,Cl~
X - » A- H,O/A
8643511776.
+
N-Cl—
X - ;  A- H;O/NaOH

8643511777.



NO,

X - P H_z(.j'lg".}.

8643511778.

Question Number : 48 Question Id : 864351588 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following reaction DOES NOT involve Hoffmann bromamide degradation ?

Options :
8643511779.
I
CHz I C . CH; CHZ - NHZ
i) Bry, NaOH/H *
i) NH,y/A

L.
I il

iii) LiAlH,/ H,0

O
I

O/ Bry, NaOH
8643511780.
O
L NH,
Cl
i) NH;, NaOH
ii) Bry, NaOH
: ~-CN

8643511781

NH,
i) KOH, H,0

L

ii) Bry, NaOH
8643511782



Question Number : 48 Question Id : 864351588 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

o = = o - m = E o = o — ’
& |BobBS® O S5t FHHS FEHDE EHBESSD ot ?

Options :
8643511779.
I
CHz E I CH; CHZ -
i) Bry, NaOH/H™*
i) NH,y/A
i) LiAlHy/H-0
QO
I
"Hy —C—NH,
O/ Br,, NaOH
8643511780.
@]
Il
¢l
i) NH;y, NaOH
ii) Bry, NaOH
8643511781.
CN NH,

i) KOH, H,0

O/ ii) Bry, NaOH
8643511782.

NH,

CH,— NH,

NH,

Question Number : 49 Question Id : 864351589 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The functions of antihistamine are :

Options :



8643511783, (\ntiallergic and Analgesic

At\algesic and antacid
8643511784.

Antacid and antiallergic
8643511785.

3643511786, ‘ntiallergic and antidepressant

Question Number : 49 Question Id : 864351589 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

dSmod SPRDS (SPHS DE%Gen) o |BcPen (functions) :
Options :

508 DS SV JTS £BE

8643511783, %

= E Lof afes adee oo B
weTmeS 205 S0Bd CIrotTrRG

8643511784.

8643511785.

aSrod JuBE 6 dirod &P oS
8643511786. =

Question Number : 50 Question Id : 864351590 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which among the following pairs of Vitamins is stored in our body relatively for longer
duration ?

Options :

2643511787, Thiamine and Ascorbic acid

2643511788, Vitamin A and Vitamin D

9643511789, L hiamine and Vitamin A

Ascorbic acid and Vitamin D
8643511790.



Question Number : 50 Question Id : 864351590 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

808 DS adod® 28 B B8 Fak
Options :
dHadS 0y JFGE o

8643511787. o

Ty e T o P T e T B

SCSobe 00D Déddha A

8643511789, PODDS 0D DS

AEBE o HBdh DS D
8643511790. i i

Chemistry Section B

Section Id : 86435140
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 86435140
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 864351591 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A 6.50 molal solution of KOH (aq.) has a density of 1.89 g cm

is mol dm 2.

[Atomic masses : K : 390 u; O : 16.0 u; H : 1.0 u]

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

ol amﬂw S0 Slens Sodnod.

. The 111crfarit}= of the solution



Text Areas : PlainText
Possible Answers :

100

Question Number : 51 Question Id : 864351591 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

3

a8 6.50 3rerd KOH (aq.) [mesdeesd Pol@d 1.89 g cm orSeas) Irerod

mol dm ~°. {Cﬁ-{ﬁ& aeoroTPA8 exsrrencdd 206 Ddbod).

[R8s8mren groren : K :39.0u; O:16.0 u; H: 1.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 864351592 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
A certain element crystallises in a bee lattice of unit cell edge length 27A. If the same element
under the same conditions crystallises in the fec lattice, the edge length of the unit cell in A will
be _ . (Round off to the Nearest Integer).

[Assume each lattice point has a Hiﬂglu atom|

[Assume /3 = 1.73, V2 =141]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 864351592 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



2, Hressn becarodost mr&f’:-séﬁfau Dob ahrede s acth PES 27A. of SressSy o
;\.ngiﬂﬂ.«"’jﬁ foc erelod® éqjé‘iééﬁwu DobHd e D FEH Aedt

(e S0 Srorosdd K8 Dakodn).

[e.8 el Sothsd HE a8 Do) &I @E Dm)]

[ 02850503 =173, V2 =1.41]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 864351593 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

When light of wavelength 248 nm falls on a metal of threshold energy 3.0 eV, the de-Broglie

wavelength of emitted electrons is A. (Round off to the Nearest Integer).
[Use : 3 =173, h=6.63x10" Js
m,=91x10"3 kg ; c=3.0x108 ms~1 ; 1eV=1.6 x 10~ 19]]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 864351593 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

©B0gE8 (threshold energy) 3.0 eV ffo 2.8 &0, 248 nm SBorggoe Mo sP08 JEJHWD

al

IS TS © 8F°0 SvorgYo A, (parand 818 JroroseR8 K6 Jchod).

[65@rRoB08 @ 3 =173, h=663x10"34]s
m, =9.1x10 3 kg ; c=3.0x 108 ms~1; 1eV=1.6 %10~ Y]]



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 864351594 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For the reaction A(g) — B(g) at 495 K, A G"= — 9478 k] mol L,
If we start the reaction in a closed container at 495 K with 22 millimoles of A, the amount of

B in the eq_uﬂibrium mixture is

[R=8.314] mol ! K™ !; In 10=2.303]

millimoles. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 864351594 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A(g) = B(g) S85%, 495°C ¢  AG°=—9478 k] mol 1. a8 Hords @S 495 K &°

Ll

22 SpParS © A& $65 etod

(esmenid &0 SrTrostiS D0 DChosin).

[R=8.314 ] mol~1 K~ 1; In 10=2.303]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 864351595 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



AB, is 10% dissociated in water to A%* and B~. The boiling point of a 10.0 molal aqueous
solution of AB, is ‘C. (Round off to the Nearest Integer).

[Given : Molal elevation constant of water K, =0.5 K kg mol ! boiling point of pure water
= 100°C]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 864351595 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

H8E° AB, 10% A2 80 B-eorr D@rro Bobob. 100 IrerS AB, oBidhHD [rsaDd

i wil

s:.,"ﬁénﬁ:afmiu vl C. (zorenid GO SroroscE D6 Sdbosin).
Le ()

[ 08 Freord 658 Dorossn, K,=05K kg mol ™ 138 elp@ss ko = 100°C]
il 3

o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 864351596 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Two salis AEK and MX have the same value of solubilit}r prnduct of 4.0% 1012, The ratio of

S(AyX)

their molar solubilities i.e. m = . (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 56 Question Id : 864351596 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

o ol " w & L o -
Bo oftren AX S08350 MXeo B Dend fe oesadher ao, 4.0x10 12 <5 oA
= Lt

H{% ‘x]

€00, =8 (HBchE afL

L

L':Z‘n

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 864351597 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2MnO; +bC07 +cHY = xMn?* +yCO, +z2H,0

If the above equation is balanced with integer coefficients, the

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
Question Number : 57 Question Id : 864351597 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2MnOj +bCr07 +cHY = x Mn?* + y CO, +2zH,0

50 o063, ¢ Dend

o5
‘9‘?
%R
&
g
L
(1)
2
<
ul
('!I
G4
24
&R
%‘x

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

value of ¢ is



Question Number : 58 Question Id : 864351598 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The decomposition of formic acid on gold surface follows first order kinetics. If the rate
constant at 300 K is 1.0 10 ~* s~ ! and the activation energy E,=11.488 k] mol !, the rate
constant at 200 K is %1077 s~ L. (Round off to the Nearest Integer).

(Given : R = 8314 Jmol "1 K™ 1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 864351598 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

08 o) DBreisin Intid \Biirol KBS gk Srdod. 300 K& 658

ped

Béw Horoddin 1.0x1073s~1:550un ¢8a¥ 8 E,=11.488k] mol ! wond, 200K 5 <&

Téxn orodo
G

(R = 8314 Jmol 1K}

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 864351599 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The equivalents of eth}flenc- diamine required to replace the neulral Ligands from the

coordination sphere of the trans-complex of CoCly4NH;y is . (Round off to the

Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

100

Question Number : 59 Question Id : 864351599 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

CoCly4NH; @8 (%) om0 6% BadRES P o 00 myéd 8ol o 9i:Asissm
(replace) Toind®H sPHedS 880 B whde Here
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 60 Question Id : 864351600 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Complete combustion of 750 g of an organic compound provides 420 g of CO, and 210 g of
H,0. The percentage composition of carbon and hydrogen in organic compound is 15.3 and

respectively. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 864351600 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

750 ge a8 3’5&:5 STETE)) Sr0n diFHo Idbrr 420 g CO, 5080 210g o H,O ﬁcﬁn}&u&.

S . (esrenid &30

SR H80in FIEEe Dompdd srdo SHSre 15.3 Hocin

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

100

Mathematics Section A
Section Id : 86435141
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 86435141
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 864351601 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L if - ' 10 ‘ glx| |8 ‘
Let A= P -I i = /—1 . Then, the system of linear equations A = has :

Options :

8643511801. No solution

A unique solution
8643511802.

2643511803, [nfinitely many solutions

Exactly two solubions
8643511804. =

Question Number : 61 Question Id : 864351601 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
i il - B~ - S ot B i gt g * B o
A= . .|, ij=1 o080 o, Jndbore R0 A = = B
P @ e :

Options :



8643511801,

-

SBE ;W Bo
8643511802, SS° FHR B0

{}

=
8643511803.

G0
8643511804. f

Question Number : 62 Question Id : 864351602 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let the functions f: R — R and g : R — R be defined as :

2 x< %3 ¥ <1

jx I o p
fo=q g g md 8O0, 0 o

Then, the number of points in R where (fog) (x) is NOT differentiable is equal to :
Options :
8643511805. U

=1

8643511806.

[

8643511807.

%)

8643511808.

Question Number : 62 Question Id : 864351602 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

f:R— R85 g: R - R o3 [$3csren

3 5D, DB (og) (x) vS580dcho U R 70 Hohde Rogy=:



Options :
8643511805, U

8643511806, 1

()

8643511807.

8643511808,

Question Number : 63 Question Id : 864351603 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1—x z 42
Let P be a plane Ix + my + nz=0 containing the line, ] = ~paa 3 - If plane P

divides the line segment AB joining points A(~3, —6,1) and B(2, 4, — 3) in ratio k : 1 then
the value of k is equal to :

Options :

8643511809, 2

8643511810, 1.2

8643511811,

8643511812, 4

Question Number : 63 Question Id : 864351603 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
.-Ix_yld_f_:l?_’ : S

~tel-ToE " = 3 & BOADN) a8 oo Pl Ix+my+nz=0 a8 08,

A(—3, —6,1) $B8d5n B2, 4, —3) o 50 Tygrpodo AB D Swo Pedd k:1 %8s

Options :
8643511809, 2



8643511810, 1.2

8643511811,

8643511812, 4

Question Number : 64 Question Id : 864351604 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If for a > 0, the feet of perpendiculars from the points A(a, — 2a, 3) and B(0, 4, 5) on the plane
Ix + my+nz=0 are points C(0, —a, — 1) and D respectively, then the length of line segment
CD is equal to :

Options :

J31

8643511813.

8643511814, V6O
8643511815, V41

=
8643511816. 5

Question Number : 64 Question Id : 864351604 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s

a >0, won, dothd A(a, —2a, 3) 08w B(0, 4, 5) © ook oo k+tmy+nz=0 28 ARS

woaarmre SHmre C(0, —a, —1) 580 D wawd, CDBye oo Dwg) FEH=:

Options :

W31

8643511813.

8643511814, V6O

8643511815, V4

=
8643511816. V35



Question Number : 65 Question Id : 864351605 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Consider three observations a, b and c such that b=a t+¢c. If the standard deviation of

a+t2 b+2 ct+2isd, then which of the following is true ?

Options :

8643511817, & — (@~ +c7) ~9d”
| g | g} o )
2 nrade B 1 ga2

8643511818, 0 —o@ te7)+9d

R 2 7
8643511819, p-=a" +c +3d

2_ g2 4 24 g2
8643511820, D — (@ +cm+d)

Question Number : 65 Question Id : 864351605 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NESsiw.a+2,b+ 2, c+ 20 (FRSrRE Ddedo

(- B

b=a+c odytnd Soeedh S82eden a, b, coi

v ad - = = I 5 L o~ e
(B ESDSeso) d wwd, |8ob T8E° H8Jwo ?

L

Options :

8643511817, £ —a(@”+¢c7)—9d”
e > 9

8643511818, 0 (@~ e +9d

Y R 2 73
8643511819, P-=a-+c+3d

8643511820, D — @ +ecm+d%

Question Number : 66 Question Id : 864351606 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



P

g P Fa e g
Let the position vectors of two points P and Q be 31 — j + 2k and i + 2 — 4k,

respectively. Let R and S be two points such that the direction ratios of lines PR and Q5 are
(4, =1, 2) and (—2, 1, — 2), respectively. Let lines PR and QS intersect at T. If the
vector TA is perpendicular to both PR and 55 and the length of vector TA is.\."g units,

then the modulus of a poﬁitic-n vector of A is:

Options :

8643511821. V5

8643511822, V171

8643511823, V227
8643511824, V482

Question Number : 66 Question Id : 864351606 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
) fal Fa T el M
Dotaheo P, Qo FH30Fen SKBe 3i - j + 2k HOWE® i+ 2j - 4k 055808,
PR8I Q5 & &E{”&U&Jéﬂm S85me (4, —1,2)08dm (-2,1, —2) @{ﬂ;@&:};é{l Soth dothayen

R $08¢60 S ©8%8. PR %8050 QS e T $¢ woboibhotrmdhidSold. 568 TA 38

- —_—

PR 08050 QS @5 «o0TP Gotar, 64 TA @“{5{;-\!‘3 Chartn eowd, A GwE) %:Eﬁ rabyd

SRED
Options :

N

8643511821.

8643511822, V171

8643511823, V227



8643511824. 482

Question Number : 67 Question Id : 864351607 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A A, i A A,
Let a vector i + B be obtained by rotating the vector /3 i by an angle 45 about the

origin in counterclockwise direction in the [irst quadrant. Then the area of tri,angle having

vertices (w, ), (0, B) and (0, 0) is equal to :

Options :

1

2
8643511825,
8643511826, 1

2./2
8643511827, 2

8643511828. V2

Question Number : 67 Question Id : 864351607 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

M ! n n
V3i + | 93 3685 Sre Dodd o BIHEE” Toodsd ot 45° Eieod® (gifomo

g

Sabre 0odS a S6F ai + Bj W08 @D (o B), (0, B) 508cH (0, 0) & Fozenre Ko

Dt oy Rmvewry -
(9500830 ] i_.‘:"i.lu i

Options :
1
2
8643511825,
8643511826, 1

8643511827. ~



1

8643511828. V2

Question Number : 68 Question Id : 864351608 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of roots of the equation,

{Slls:in::t | {S-:[JL'UHEI — 30

in the interval [0, 7] is equal to :
Options :

[

8643511829.

8643511830,

8643511831.

o0

8643511832.

Question Number : 68 Question Id : 864351608 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

{Bl}ﬂn‘x } {Sljuﬁ‘l —130

as H5dseo T8 (Frsise oy

Options :

[

8643511829.

(¥ 5]

8643511830.

8643511831.

o0

8643511832.



Question Number : 69 Question Id : 864351609 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A pack of cards has one card missing. Two cards are drawn randomly and are found to be
spades. The probability that the missing card is not a spade, is :

Options :
7
2
8643511833, 22
52

8643511834, 867
8643511835, U

3
8643511836,

Question Number : 69 Question Id : 864351609 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

28 D&Y S0l ol 8 wrbHdibe B, Srlayicel o, 823 BohH Honen s tned

S920h. EIDoUNHose Dol G ety SESFNE8 Dogrid

Options :
2
8643511833, 122
52

8643511834, 867
8643511835, U

3
8643511836,

Question Number : 70 Question Id : 864351610 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The range of acR for which the function

i

f(x)=(4a - 3) (x + log.5) + 2(a - 7) Cﬂt[ J‘"*U" I_J # 2nm, neN has critical points,

m|H

is :
Options :

[1. =)
8643511837.

(==, ~1]
8643511838.

57
X
8643511839. '

8643511840. (=3, 1)

Question Number : 70 Question Id : 864351610 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-

@Boamo f(x)=(4a-3)(x +log.5) + 2a ?’JmtﬁJ Sﬂ"‘z(%f

, ¥ = 2nm, neN %) 1....-\..:11'.35

dothsyootly a°3% Dogy ack 60t wodlo
Options :

[1. =)
8643511837.

(2 —1]
8643511838.
37
5
8643511839, -

8643511840. (=3, 1)

Question Number : 71 Question Id : 864351611 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

If n is the number of irrational terms in the expansion of {3‘.; | 5}-'3 |, then (n - 1) is divisible
by :

Options :

8643511841. 30

oo

8643511842.

2
8643511843.

=

8643511844, *

Question Number : 71 Question Id : 864351611 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(3% 5% ]m-w-:?“ DGeadt SBHAS STPOROYS N wond, (n- 1) E‘J:_a'ljaﬁ_urr* erRoDb :
Options :
8643511841. 30
8643511842, 8
26
8643511843.

Lar 4

8643511844, *

Question Number : 72 Question Id : 864351612 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let [x] denote greatest integer less than or equal to x. If for neN,

In
: R N I -]
(I—x+2x")" = E{-}ajl',then
jl:

B

2
5 az; +4 D 47;+1 is equal to:

j=0 _:ﬂ
Options :
an—1
8643511845. =

8643511846, 1

I

8643511847.

8643511848, 1

Question Number : 72 Question Id : 864351612 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x & ool ﬁfﬁ;’é rerosea)y [x] ?&Pﬁ@o&iv%ﬁu&. n=N %

= Lo N

An
Jan i :
H—Z +.x) Ya}x o
=0
T3n In-1
2 2
Z ﬂ.zi, i -1: Z dn i..._I —
jl:ﬂ ’ _il.:u
Options :

311
8643511845, =

8643511846, 1

8643511847, 2



8643511848, 1

Question Number : 73 Question Id : 864351613 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following Boolean expression is a tautology ?

Options :

8643511849, pAdVipvy

8643511850, P~ DV P =9

8643511851, £ DA P9

B R — :
se43511852, P D> P =9

Question Number : 73 Question Id : 864351613 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=] & ™ - E wtl h ! adt gt
Eoh 78E° & arddha DSrEd0 a8 Jdrddo ?
Options :

8643511849, padvipvy

8643511850, P DV P = 9)

8643511851, £ VAP 9)

R — :
s643511852, P D= =9

Question Number : 74 Question Id : 864351614 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

k 1 6!‘
r=1 < : /

'd

. Then /" Sk is equal to :

Options :



(SN

8643511853
O

CDtII;|
8643511854 \2)
| b

tanll;|
8643511855. 2)
. 1 !
8643511856, 20 ()

Question Number : 74 Question Id : 864351614 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

k r \
e 1 & ; . B
Sk = Z‘tan {,)gr-q T |@ssiad, LrG T _'II'!”‘ Sk = :
2 -3 k—e
r=1 J
Options :
m
9
8643511853, =
1 {33
cot ' l; |
8643511854. e
£3
tan | [;|
8643511855. =
tan~ ! (3)
8643511856.

Question Number : 75 Question Id : 864351615 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of elements in the set {xeR : (x| —3) x + 4/ =6} is equal to :
Options :
8643511857, 1

8643511858, 2



8643511859,

8643511860, *

Question Number : 75 Question Id : 864351615 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
5508 (xeR : (Ix|—3) Ix+4| =6} S0 Swrose Hogy=:

Options :

i

8643511857.

)

8643511858.

8643511859.

W

8643511860.

Question Number : 76 Question Id : 864351616 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e | e
If for xe | 0, %J log,gsinx +log;,cosx = — 1 and log,,(sinx + cosx) = E{Engm n—-1), n >0,

then the value of n is equal to :

Options :

8643511861. 9

=t
3

8643511862.

16
8643511863.

I
=

8643511864, 2

Question Number : 76 Question Id : 864351616 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3 X . 1
05 log,,siny +log,cosx = — 1 s805» log,y(sinx + cosx)= 7 (logyyn—1), n > 0,

!

@ond ndn) Jwd=:

Options :

8643511861. 9

8643511862, 12

16
8643511863.

8643511864, 2V

Question Number : 77 Question Id : 864351617 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

¢

i
If y=y(x) is the solution of the differential equation, :ii b 2ytany = sinx, y{
.

—_

tet | = (0, then
5 )

the maximum value of the function y(x) over R is equal to :

Options :

8643511865, O

M| =

8643511866.

8643511867. 4

.
8643511868, O

Question Number : 77 Question Id : 864351617 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T ) Z .El[ z - & £
,U[;)J =0 ﬁ,,x?%@ 1_JF F2ytanx = sinx, @7 @SBl DbESeD TS y=y(x) wond,
B ax ’

R3 y(x) Doy HOx end :
Options :
8643511865. 8

I»J|n—"

8643511866.

8643511867. %

.
8643511868, O

Question Number : 78 Question Id : 864351618 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The locus of the midpoints of the chord of the circle, 12 y3=25 which is tangent to the

=]

=

X If .
hyperbola, — — — =1 is:
YP 0 16

Options :

2+ y?)2- 922 + 144> =0
8643511860, & 1Y) y

¥ yH2-0x2 - 16yt=0
8643511870, & V) Y

X yd? - 9xd 4 16yt =0
s643511871. & ¥} Y

"

8643511870, (¥ T¥)? 1627 +9y"=0

Question Number : 78 Question Id : 864351618 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



] n 3

X i i z L ,
wdsTcsecho 1 - L —1% D0y edntndy x2+ =25 el do @s) % D) S
9 'IE) o o o s B - E— [ ] o | ]

dothsy dotihado ;

Options :
2+ y?%)2- 922 + 1447 =0
8643511869, & TY) T 9% v
2 yH2 - 0x2 16yt =0
8643511870. { Y } ¥
2y - 92+ 162 =0
8643511871.( s } s

3. .92 3 gl
8643511872, & Hy7)T - 16xT 4 9y"=0

Question Number : 79 Question Id : 864351619 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the three normals drawn to the parabola, y>=2x pass through the point (a, 0) a=0, then

‘a’ must be greater than :

Options :

8643511873, 1

8643511874.

b=

8643511875.

b3 | =

8643511876.

Question Number : 79 Question Id : 864351619 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Soedecho Y2=2x% A2 Hrds wdoocuboen (a,0)a=0, on Do rhore o, S0k

-

TeEER Eﬁéc‘ﬁ; ‘a’ EEMT dodnod ;
)



Options :

8643511873, 1

8643511874. 1
1
2
8643511875, =
1
l')
8643511876. =

Question Number : 80 Question Id : 864351620 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

:l'il‘

Let a complex number z, |z'= 1, satisfy log 4 —]
o= (2| - 1)*)

< 2. Then, the largest value of

V2

z| is equal to _

Options :

18] ]

8643511877.

o

8643511878.

fa |

8643511879.

oo

8643511880.

Question Number : 80 Question Id : 864351620 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i

3

zl2 1, ©3Bn) a8 P08 Sogy zedB log 4
7z - 1)

o e | 7 Lt A=A R
WD |z| Bos) i".uqé, SJen =

Options :

8643511877. -



o

8643511878.
8643511879.
8643511880, &

Mathematics Section B
Section Id : 86435142
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 86435142
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 864351621 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

7+ 1

Let z and w be two cm‘nplex numbers such that w = zZ — 2z + 2,

z —3i

‘ =1 and Re (w)

has minimum value. Then, the minimum value of neN for which w" is real, is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 864351621 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



n,

L o B R e
z 0 w w 93 DosE Jogyewn w = zz — 2z +12,

Dendd SoCLRT aTdhHE 0d. oH w" THS Soge

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 864351622 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

=1 08¢0 Re (w) 5 53

@Ey neN @) £33

Letf: R — R be a continuous function such that fix) + flx +1)=2, forall xeR. If [} = J‘f(x]dx

3

and I, = If{x}dr , then the value of I, + 21, is equal to
-1

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 864351622 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

o) xeR 0% fx)+flx+1)=2 odwps) af oINJ BHcho f:R > Re

8 3
II—_[ffl )dx Hdasnl, = I v)dx , wawd@, I +2I, Bwg) Dend=_ I
0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

".""':'.\

ok

I'

BEs



100

Question Number : 83 Question Id : 864351623 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A
If the normal to the curve y(x)= J{ZLE 15t + 10) dt at a point (a, b) is parallel to the line
0

x+3y= —5, a > 1, then the value of ja +6b| is equal to ___

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 864351623 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

X
- i 2 OB e a5 g e
2.8 dothdy (a,b),a>158 y(x)= I{Et 15t + 10) dt H==08 Ko wdwoxdy oI HEEdY
0

x+3y=—5 & [Jdrodborr &odl, |a+ 6b| GnE) Dend =

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 864351624 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

X I e E

: ac bcosx + ce .

If lim : =2, then a +b+cis equal to
x—0 xsinx

—X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



100

Question Number : 84 Question Id : 864351624 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
ae” — bcosx +ce

lim _ =2 ewona, atb+c=
r—0 Isinx

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 864351625 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider an arithmetic series and a geometric series having four initial terms from the set
{11, 8, 21, 16, 26, 32, 4}. If the last terms of these series are the maximum possible four digit

numbers, then the number of common terms in these two series is equal o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 864351625 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

{11, 8, 21, 16, 26, 32, 4} &I 530S Dol ode Tren dored BOAS ¥ wolEd shBdw a8
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LT - Y St |y
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[1=8 e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



100

Question Number : 86 Question Id : 864351626 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

-

30 20 56 2 7 e
Let P=| 90 140 112| and A = | i 1| where w= ———, and L, be the
120 60 14 0 —w —wtl )

identity matrix of order 3. If the determinant of the matrix (I IAE-’—EH]2 is aw?, then the

value of « is equai o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 864351626 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

30 20 56 2 7 w
oy U | i e % 1+ i3
P=| 90 140 112| 58w A=|-1 —w 1| 0= ————,50¢w [,5urE® $5r58
120 60 14 0 ~w —wtl B
ST STBE 0o, rBE (PIAP-1,;)2 Gt AsEo aw? ©and aDend=_

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 864351627 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



Letf:(0,2) — R be defined as f(x)= Iogz[l | tan[T'TI\|
; 4 )

S ot

4,

oo Bl R 2 i
Then, .Eln n [}’(“ ;| | r[ n } S f[l‘JJ i5 equal to
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 864351627 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

f:(0,2) =R 838 f(x)=1logs| 1+ tan[%x ]
\, £
; ; 2 1 g
3 25080 05l ek lim —[.ff—] ' I[-W IR .-”“]= SO
ol = n—eo 1L N ILS By /

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 864351628 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of 3 x 3 matrices A having entries from the set {0, 1, 2, 3} such that the sum

of all the diagonal entries of AAT s 9 is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 88 Question Id : 864351628 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

it

H508 {0, 1, 2, 3} °0 Saresced Swroscenre 507 AAT Gn¥) DL Hrose Jndo
9 ©dbitnrr P Ho o) 3x3 F@5w Ao Jogg=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 864351629 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let ABCD be a square of side of unit length. Let a circle C; centered at A with unit radius is
drawn. Another circle C: which touches C 1 and the lines AD and AB are tangent to it, is
also drawn. Let a tangent line from the point C to the circle Cz meet the side AB at E. If the

length of EB is .n a3 {3, where «, § are integers, then a + 3 is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 864351629 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2.8 cardeS S gheo e S&3Ho ABCD et od. A Bolforr dimedes o :Jtc;_iluiﬂﬁ ARD

g

a8 a”aéo 2 @508, H5¥0nen AD 508650 ABen :L;:{;;.Ba:wrﬁ HNEA Hadn C.I:-:EP F'EJ;E:’EUEI

Bo C, i AdB. C,% Ciold ALS {80 AB gherd) ES¢ Seninod. EB

@) TED a + 3 B, o, B Irrosren oawd, atp =

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

100

Question Number : 90 Question Id : 864351630 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

d

1
Let the curve y=y(x) be the solution of the differential equation, cl_j‘:: 2(x + 1), If the

numerical value of area bounded by the curve y=y(x) and x-axis is , then the value of

y(1) is equal to ____

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 864351630 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



